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(c) B och C är inverterbara, inte A.

(d) Rank A = 3, en bas för Nul A är {
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(e) A−1 =
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1 −1 0
0 1 0
0 0 1
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(f)

[

2 0 2
3 1 −1

]

2. (a) x1 = 9

2
, x2 = 7

2
, x3 = −5
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(b) x1 = 9

2

3. (a) Egenvärden 5 och 10, motsvarande egenvektorer t

[
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]

respektive t

[

2
1

]

.

(b) Ak = 1
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5k
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+ 10k
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4. x1 = 4

3
, x2 = 2, medelfel ε = 2

√

3
.

5. (a) ME =
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(b) MB =
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1 2 2 0
0 −1 4 6
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(c) MB = P−1MEP , där P =









1 0 0 0
1 1 0 0
0 1 1 0
0 0 1 1
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6. (a) Falskt

(b) Sant

(c) Sant

(d) Falskt

(e) Sant

(f) Falskt


